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Multiplying and Dividing Rational Numbers

Name:

Solve each problem.

1) 63+(-18) =
2) 56.4+3=
3) 12.149-(-32) =
4) 41+312=
5) 61.66- (-25.982) =
6) 33.56 +(-33.05) =
7) 17.085-(-63.03) =
8 21-70=
9) 33-(-93.69) =
10) 22+61.1=
11) 96.002+76.7 =
12) 3391+ (-36) =
13) 45.35 + (-88.657) =
14) 60.59 - 40=
15) 35.861+59=
16) 33+ (-59.032) =
17) 3B-(5)=__
18) 78.01 + (-95.004) =
19) 41.002-(-32) =

20) 41-38.73=
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ﬂh Multiplying and Dividing Rational Numbers Name:. Answer Key

Solve each problem. Answers
1) 63+(-18)= 45
1 45
2) 56.4+3= 594
2 59.4
3) 12.149-(-32) = 44.149
3. 44.149
4) 41+31.2= 722
4 (2.2
5) 61.66 - (-25.982) = 87.642
5, 87.642
6) 33.56+(-33.05)= 0.51
6. 0.51
7) 17.085- (-63.03) = 80.115
7. 80.115
8 21-70= -49
8. -49
9) 33-(-93.69) = 126.69
9. 126.69
10) 22+611= 831
- 10. 83.1
11) 96.002+ 76.7= 172.702
- 1. 172.702
12) 3391+ (-36)= -2.09
) BIAT(I)=_209 o -2.09
13) 45.35+ (-88.657) = -43.307
) 4535+ (-88657) = 43307 5 -43.307
60.59-40= 20.59
19 —5 14. 20.59
15) 35.861+59= 94.861 - 94.861
16) 33+ (-59.032) = -26.032 . -26.032
17) 33-(-5 = 38 . 33
18) 78.01+ (-95.004) = -16.994 o -16.994
19) 41.002-(-32) = 73.002 o 73.002
20) 41-38.73= 227 " 297
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C:h Multiplying and Dividing Rational Numbers

Name:

Solve each problem.

Answers

72.2 83.1
45 -2.09
-49 44.149

0.51
126.69
59.4

87.642

172.702

80.115

1) 63+(-18) =

2) 56.4+3=

3) 12.149-(-32) =

4) 41+312=

5) 61.66 - (-25.982) =

6) 33.56 + (-33.05) =

7) 17.085- (-63.03) =

8 21-70=

9) 33-(-93.69) =

10) 22+61.1=

11) 96.002 + 76.7 =

12) 33.91 + (-36) =

10.

11.

12.

M odified
[ M ath ] www.CommonCoreSheets.com

1-10
11-12

92

75|67 [58[50( 4233|2517 |




	Worksheet
	Answer Key
	Modified Worksheet

